NAME & ID

PH 102 / LeClair Summer II 2009

Quiz 4: Capacitors and Such
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1. A fully charged defibrillator contains 1.20 k] of stored electrical energy in a 1.1 x 10~ F capacitor.
Find the voltage needed to store 1.20 k] in the unit.

2. Five 5 uF capacitors are connected in parallel. What is the equivalent capacitance? How about if all

five are connected in series?

3. I have two batteries and three capacitors. How should I connect them to store the most electrical

energy? Describe in words or as a circuit diagram as you choose.



